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Al 4 ol AE AL T Al A

L

T 700 HEAUSUHEIY
720 LNy
721 mel2 (Erel )
Z-2-g.2 Ofl st SIEE AT line=sh
g 17,946,000 19,089,000 1,143,000
700 EH4ASL U 17,946,000 19,089,000  A1,143,000
720 Li= 12K 17,946,000 19,089,000  A1,143,000
721 W3 17,946,000 19,089,000  A1,143,000
721-03 JIEFBIHE LS 17,946,000 19,089,000 1,143,000
< AR > 17,946,000 19,089,000 A1,143,000
OXISRIRAILA BB 17,946,000
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SA SIS
& HHUUX 22 XS (& - SAI1S/0HRI L)
qﬂiMW“WHNJﬁJQEﬁﬂE*PQNQNqM“M 23H) (el &)
S - I ER(S) - AIRAR - BAS of et e HIDE
AN RIS 2,681,100 2,493,100 188,000
HENUR 22 XA (&Y - SAIIG/UMEHTLR2OHE) 1,149,100 1,550,000 A400,900
AITHAOIA X JHE & 1,149,100 1,550,000 A400,900
SS(SENIXNSIAALHSESIA)
ATHAOIUX 2=gdst Jgs 30,000 30,000 0
308 XA SOIA 30,000 30,000 0
10 SIS B LS ASAIZ I 30,000 30,000 0
OATHHOILA 2E=&843t JIg7= 30,000
MNASE ST B2 25AE 500,000 500,000 0
403 AXIEHHSAH=Z0IE 500,000 500,000 0
01 AXHHAG=E L 500,000 500,000 0
OMASE SSTH tH2Z 2cSAed 500,000
HATOHA Jl=oHe XI2A 300,000 300,000 0
308 AFXIEHISOIE 300,000 300,000 0
10 SIS0t B &S AEAIZ I 300,000 300,000 0
O HHA JNI=HEY KA 300,000
AHEAUX Jlsde RIS XS 200,000 200,000 0
308 XA SOIA 200,000 200,000 0
10 SIS E LS ASAIZ I 200,000 200,000 0
OATHHOILA Jlsde |1 X 200,000
HAWORLD(ZHMIa=AUUHX HAIS & EZH) JHZ 100,000 0 100,000
308 AXIEHISOIE 100,000 0 100,000
01 HRIHHBAEXS 100,000 0 100,000
OHMORLD (= M==A 0L X &AIZ] X ZE) N 100,000
AITHA0ILU X 2E3H] 19,100 20,000 2800
201 deh=2 & 4,000 4,000 0
01 At22teld] 4,000 4,000 0
OgEt+=ZH| 4,000
202 O 14,200 14,200 0
01 =20l 14,200 14,200 0
O&ITHHOIL A SR=X 14,200
203 gF =& 900 1,800 2900
03 A=A =L 900 1,800 2900
O-THAUIHAl SR 900
PSS (STIHLXIR) (MY - B4/ HH KL XHROHL) 1,532,000 943,100 588,900
HEHANXIES(SE T2 XL AISHSESH) 1,532,000 943,100 588,900
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A AN X2

A YRES(GITINLNKD) (A - SAI12/ NI KL RIIFEL)
Sl SIARIB(SHRAXISRBAILHSE ) (Bl ®E)
x = - e =

KNS THRAANEMEEIH dE= 1,532,000 943,100 588,900

701 JIEte| HSEES 1,532,000 943,100 588,900

01 JIEtSIHEES 1,532,000 943,100 588,900
OMMYAHHX &=8 2HS =5 d&ES 150,000
OATHENUX =EHX& &= 500,000
ODILIEiZE ESX3AY &3 200,000
OAITHAOILX XX HES(MEEA 132,000
A & A= ATHYNUX 25 &= 300,000
OoflafSHAaSHI 22 L & &&= 250,000
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SA ZHEHL

& HHUUX 22 XA (&Y - SAI1D/0HRI L AHOHE)
el OUX X 22/(SEEH) (SRR XATAILNSLESIA) (el &)
SA - HM - BAGEH) - KIRAL - BAS 0f arod Cva] HIDS2
IS IESESN] 15,264,900 16,595,900 A1,331,000
HENUR 22 XA (&Y - SAIG/UEHTLR2OHL) 13,338,840 15,350,620 2,011,780
OILAXl Xt 2r2l(SEH) (SRS TAAILHSESIA) 13,338,840 15,350,620 /2,011,780
EF=EFE TADIA SsHi2 &X 2,000,000 2,000,000 0
403 AXIEHHSAH=01E 2,000,000 2,000,000 0
01 AXHH =2 L 2,000,000 2,000,000 0
OHt=FE ZTADIA SSti2 £X 2,000,000
MBS EIIAIE JHEAS 150,000 50,000 100,000
403 AXIEHHSAH=Z01E 150,000 50,000 100,000
01 HRIHHA=ZE X 150,000 50,000 100,000
OANEE &IIAIE JHE A 150,000
CEAXNS HUHA 2F/EIS XI3AL 82,000 82,000 0
308 AHXIHHSOIA 82,000 82,000 0
01 AXHHBLELES 82,000 82,000 0
OZAXS UIUX S]HIE KIEAE 82,000
NEIE JtAEIYRE 2EgAtY 250,000 250,000 0
403 AXIEHHSAH=0IE 250,000 250,000 0
01 AXHH=E L 250,000 250,000 0
OJtA EIYeEE 2AtY 250,000
S| OIUXINERINE XIRAY 100,000 100,000 0
308 AXIEHHISOIH 100,000 100,000 0
10 SIS0t B &S ASAIZ I 100,000 100,000 0
OsaJ1g OiHX & & O KA 100,000
CADIA SE8HIE MHEEY 30,000 30,000 0
207 A-1HE] 30,000 30,000 0
01 2= 30,000 30,000 0
OZAIIIA S3HIE MEES 30,000
SOHE LPG AT 25 = 300,000 1,500,000 21,200,000
403 A XIEHHSAH=01E 300,000 1,500,000 21,200,000
01 AXISHHA2E L 300,000 1,500,000 /1,200,000
OsOE PG AE8NEED 25 & 300,000
e SN RERPSIME S 10,407,940 11,321,820 A913,880
308 XA SOIA 10,407,940 11,321,820 A\913,880
06 Al - ZJIEHHE EEH| 10,407,940 11,321,820 A\913,880
Ostgd XHuR=s 10,407,940
AEze| gf 293 18,900 16,800 2,100




SA ZHEHL
M "“X*OHHII K2 (at - SAI/ UKL X2 L)
EX

=l U = Eal(g SIHN(SEM NG TAAIENMELEIAH) (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
201 k=& 3,000 2,000 1,000
01 At22teld] 3,000 2,000 1,000
OgEt+=ZH] 3,000
202 04l 15,000 13,000 2,000
01 2] 15,000 13,000 2,000
OUIUX SR 15,000
203 SRF&| 900 1,800 A900
03 AIZF=AIHI Y| 900 1,800 A900
O0IHAl BR=d 900
HPE=s(ZHME D) (A - SAI1H/0IHX LX) 1,884,380 0 1,884,380
HEHAHXIES(SE XL AISHSES) 1,884,380 0 1,884,380
NS THEAIEMSEERHN dES 1,884,380 0 1,884,380
701 JIEtel HSEES 1,884,380 0 1,884,380
01 JlEl=I A& ES 1,884,380 0 1,884,380
OLPIIAAIE AN ZO0IMNE HES 499,280
OZH? LPG 2 XIEAE 8ES 1,324,000
OXSUUX JetR=A (ST =) dE3 1,100
OXSAUUX Jlgt=SAtE (H6Xt age X
ALK HE =B 29) dE3 60,000
USTHE (& - SAIY/ U XL XHRAHL) 41,680 1,245,280 A1,203,600
B ST XS HAEMSELSIA) 41,680 1,245,280 21,203,600
(G1=]=]t 41,680 1,245,280 A1,203,600
801 OiiHIbI 41,680 1,245,280 /1,203,600
1 el 41,680 1,245,280 /1,203,600
Ooilgll 41,680
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